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Correct Marks: 2 WrongMarks: 0



Which of the learner characteristics will influence his/her perspective in a course of study?

1) Learner’'s commitment

(1) Parents interest in the learner

(111) Prior knowledge of the learner

(iv) Skill of the learner in the concerned area
(v) Family size of the learner

(vl) Soclo-economic backeround of the family to which the learner belongs
Choose the correct answer from the options given below :

(1) (1), (1) and (v)
(2) (1), (i1) and (111)
(3) (i11), av) and (v)
@ (v, () and (vi)
Options:
645350107539 1
645350107540, 2

645350107541, 3
EAE350107542. 4

Question Number : 1 Question Id : 64635027398 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350107539, 1
645350107540, 2
645350107541 =
645350107542 4

Question Number : 2 Question Id : 64635027399 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which of the strategies in the list given below will be associated with direct teaching?

(i) Providing examples and explanation
(11) Promoting inquiry

(111) Focussing on concepts

av) Giving review and recapitulation

(v) Offering practice and feedback

(vi) Problem raising and problem-solving

Choose the correct answer from the options given below :
1) @, @) and @)

@ (), (ii) and (v)

@ @), @) and(v)

@ @v), (v) and (1)
Options:

645350107543 1
645350107544 2
645350107545 =
E4AE350107546. 4

Question Number : 2 Question Id : 64635027399 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350107542 1
645350107544 2
645350107545 =
645350107546 4

Question Number : 3 Question Id : 64635027400 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The performance of a student is compared with another student in which type of testing?
(1) Criterion referenced testing

(2) Diagnostic testing

(3) Summative testing

(4) Norm-referenced testing

Options:
64250107547, 1
645350107543 2



E4E350107549. =
645350107550 4

Question Number : 3 Question Id : 64635027400 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
645350107547, 1
645350107548 2
645350107549 =2
645350107550 4

Question Number : 4 Question Id : 64635027401 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 18 an example of a maximum performance test?
(1) Personality tests

(2) Projective personality tests

(3) Aptitude tests

(4) Interest and attitude scales
Options:
646350107551, 1
646350107552, 2
646350107553, 3
646350107554 4

Question Number : 4 Question Id : 64635027401 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350107551 1
645350107552 2
645350107553 o
648350107554 4

Question Number : 5 Question Id : 64635027402 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
From the list given below identify those questions which are called process rather than

content based questions?

1) Convergent questions
11) Divergent questions

(i11) Fact based questions

(iv) Concept based questions
(v)  Open questions

(vi) Closed questions.

Choose the correct answer from the options given below :
(1) @, @) and u)

(2) (i1), (ii1) and (iv)

(3)  @v), (v) and (1)

(4) (i1), (iv) and (v)

Options:

645350107555 1
45350107556, 2
645350107557 5
645350107558 4



Question Number : 5 Question Id : 64635027402 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350107555 1
646350107556 2
648350107557 2
645350107553 4

Question Number : 6 Question Id : 64635027403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The conceptual framework 1n which a research 1s conducted 15 called a
(1) Synopsis of research
(2) Research design
(3) Research hypothesis
(4) Research paradigm

Options:
645350107559 1



EAEZ50107560. 2
645350107561, =
645350107562, 4

Question Number : 6 Question Id : 64635027403 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6453501075545, 1
645350107560, 2
645350107561, 3
EAEZ50107562. 4

Question Number : 7 Question |d : 64635027404 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A shift in attitude in respondents between two points during data collection 1s called
(1) Reactive effect

(2) Maturation effect

(3) Regression effect

(4) Conditioning effect
Options:

646350107563, 1
646350107564, 2
646350107565, 3
646350107566, 4

Question Number : 7 Question Id : 64635027404 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E4E350107563. 1
EAE350107564. 2
EAE350107565. 3
EAE350107566. 4

Question Number : 8 Question Id : 64635027405 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

From the list given below identify those which are called Non-probability sampling
procedures’ :

1) Simple random sampling
(11) Dimensional sampling
A1) Snowball sampling

av) Cluster sampling

(v) Quota sampling

(vi) Stratified sampling

Choose the correct option
1 @, ) and @)
@ (@), Gv) and (v)
@ @, (i) and Gv)

@ @), (1) and (v)
Options:
645350107567, 1
645350107568 2
645350107569 5
645350107570 4



Question Number : 8 Question Id : 64635027405 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350107567, 1
645350107568 2
645350107569 2
645350107570 4

Question Number : 9 Question Id : 64635027406 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The major characteristic of correlation analysis 1s to seek out

(1) Differences among variables

(2) Variations among variables

(3) Association among variables

(4) Regression among variables
Options:

E4E250107571. 1



EAEZ50107572. 2
E45350107573. 3
645350107574, 4

Question Number : 9 Question Id : 64635027406 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

648350107571 1
E4E350107572 2
645350107572 5
645350107574 4

Question Number : 10 Question Id : 64635027407 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The time-frame in which a study explores a situation or problem is also called the

(1) reference period

(2) age
(3) longitudinal

(4) retrospective time
Options:
£46350107575. 1
£45350107576. 2
£46350107577. 3
646350107578, 4

Question Number : 10 Question Id : 64635027407 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350107575 1
645350107576 2
645350107577 2
48350107578 4

Sub-Section Number: 2
Sub-Section 1d: 6463501342
Question Shuffling Allowed : Yes

Question Id : 64635027408 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuestion Label © Comprehension

(Geography seeks to understand the physical and human orgamzation of the surface of the
Earth. In the field of geography, inter-related themes are frequently seen. These are scale,
pattern and process. Scale 1s defined as the level of structure on orgamsation at which a
phenomenon 1s studied. Pattern i1s defined as the variation observed in a phenomenon
studied at a particular scale. The third theme, process, further connects the first two.
Process 1s defined as the description of how the factors that affect a phenomenon act to
product a pattern at a particular scale. For instance, when a passenger on an aircraft looks
out of the window, the view changes according to the scale. At the global scale when the
aircraft maintains i1ts height, he can see the chunks of clouds in all their pattern, the sun or
the moon, as per the time. When the aircraft loses a little height, passengers can see the land
and water masses in their different colours and the shape of land masses. At the continental
scale, the passengers can see the shapes of the land features and how they are distributed.
The pattern emerges as the variation of land and water and the proportion of each. Loolang
carefully, passengers can note how each land mass aligns with the others and how each
mountain bears the signs of the process through which it emerged.

The processes 1n a geography change 1n a regular and repetitive manner. One instance of
this 1s the annual solar cyele of the sun and the earth. Most systems in nature display time
cycles that are organised in a rhythm of their own. As these time cycles and natural
processes are always active, the environment of the earth 1s always 1n a state of dynamism.
This environmental change is not only the result of natural process but also the result of
human activity. Physical geography works towards understanding the interaction between
man and nature and also the results of this interaction in order to manage global climate
change better.



Sub questions

Question Number : 11 Question Id : 64635027409 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In geography, pattern studies the variation observed in a phenomenon at

(1) a particular scale (2) any scale
(3) every scale (4) most scales
Options:

E4EZ50107573. 1
EAEZ50107580. 2
645350107581, =
645350107582 4

Question Number : 12 Question Id : 64635027410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The view seen by a passenger looking out of the window of an aireraft will be affected by the

(1) Process (2) Pattern
(3) Scale (4) Rhythm
Options:

E45350107583. 1
645350107584, 2
645350107585, 3
645350107586, 4

Question Number : 13 Question Id : 64635027411 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The time cycles of the system of nature follow their own

(1) Path (2) Rhythm
(3) Process 4) Cycle
Options:

645350107587, 1
EAEZS0107588. 2
E4E350107589. =
E45350107530. 4

Question Number : 14 Question Id : 64635027412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Physical geography studies the results of the interaction between man and nature in order to
(1) understand global climate change
(2) study the impact of man’s activities on nature
(3) address the issue of global climate change
(4) reduce man-animal conflict
Options:
645350107591 1
645350107592 2

6453501075393 2
6453501075394, 4

Question Number : 15 Question Id : 64635027413 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The alignment of landmass with other elements can be seen by a passenger on a flicht on a

(1) Global scale (2) Continental scale
(3) Local scale (4) Time scale
Options:

6453501075595, 1
645350107536, 2
645350107597, 3
E4EZ501075398. 4

Question Id : 64635027408 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuesticon Label | Comprehiension
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Sub questions

Question Number : 11 Question Id : 64635027409 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350107573, 1
645350107580 2
645350107581, 5
EAE350107582. 4

Question Number : 12 Question Id : 64635027410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

feret femmamsft gro Ragdht o agw 2w o gea Fefafiaa § 4 frmm wrfaa gome

(1)  wifseAT (2) =
(3)  wIHI (4) <=
Options:

E4E350107583. 1
EAE350107584. 2
645350107585, 2
645350107586, 4

Question Number : 13 Question Id : 64635027411 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350107587, 1
645350107588, 2
645350107589, 5
EAEZ50107530. 4



Question Number : 14 Question Id : 64635027412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350107591, 1
645350107592 2
645350107592
645350107594 4

Question Number : 15 Question Id : 64635027413 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E350107595. 1
E453501075396. 2
645350107597, 3
645350107595, 4

Sub-Section Number: 3
Sub-Section 1d: 6463501343
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635027414 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mass media do not have pre-determined functions for everyone and people use them the way
they like. This 1s suggestive of the fact that,

(1) Audiences are active

(2) Content 1s of little significance

(3) Content lacks plurality

(4) Audiences are homogeneous

Options:
645350107599 1
645350107600, 2
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EAE35010760Z2. 4

Question Number : 16 Question Id : 64635027414 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
646350107599, 1
646350107600, 2

645350107601, =
645350107502, 4

Question Number : 17 Question Id : 64635027415 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the context of communication, usual sequence 1s

(1) Language — Communication — Society —» Civilization
(2) Communication — Society — Language — Civilization
(3) Communication — Language — Society — Civilization
(4) Language — Society — Communication — Civilization
Options:

422501076032, 1

646350107604 2

645350107605, 3
45350107606, 4

Question Number : 17 Question Id : 64635027415 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

646350107603, 1

EAE350107604. 2
645350107605, 2



EAEZ50107606. 4

Question Number : 18 Question Id : 64635027416 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match Set ‘A’ with Set ‘B’

A (Media) B (Transmission/Communication)
(a) Audio 1) Bandwidth
(b) Advertising (11) Linear communication
() Internet (111) Non personal Communication
(d) Newspaper av) Frequency modulation

Choose the correct answer from the options given below :

(a) (b) © Gy
(1) Qi) (av) (11) Q@)
@ @ (11) (111) @v)
3) av) (ui) Q) (1)
4) () (1) (1v) (111)
Options:
G4G350107607. 1
645350107608, 2
64E350107609. 2
4350107610 4

Question Number : 18 Question Id : 64635027416 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
645350107607, 1



EAEZ50107608. 2
645350107609, =
45350107610 4

Question Number : 19 Question Id : 64635027417 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A communication process can be considered complete when

(1) The sender transmits the message

(2) The message enters the channel

(3) The message leaves the channel

(4) The receiver understands the message
Options:

645350107611, 1
645350107612 2
E4E350107613. 2
EAEZ50107614. 4

Question Number : 19 Question Id : 64635027417 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350107611 1
645350107612 2
645350107613 =2
48350107614 4

Question Number : 20 Question Id : 64635027418 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A customer writes to a bank, ‘Kindly send me a statement of my transactions in my savings

bank account ‘A’ during the last three months”. In terms of commumication it will be called

(1) Input (2) Message
(3) Output (4) Feedback
Options:

645350107615, 1



EAEZ50107616. 2
645350107617, 3
6453501076158, 4

Question Number : 20 Question Id : 64635027418 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
UF UIEE S F forEd @ - Fo fam dW o % aE o 9= S @ 7O 0 dF-aq f oF foed
US|

oENYT o ey H FEeRl 91 R S 7

(1) AT (2) =ew

@  fria (4) wfagfe
Options:

E4EZ50107615. 1
EAEZ50107616. 2
645350107617, 3
6453501076158, 4

Question Number : 21 Question Id : 64635027419 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If REASON 18 coded as 5 and GOVERNMENT as 9, than what 1z the code for ACCIDENT?

1 6 & 7
@) 8 @ 9
Options:

645350107513, 1
45350107520 2
E4AEZ50107621. =
EAEZE0107622. 4

Question Number : 21 Question Id : 64635027419 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e REASON &1 5 @it GOVERNMENT #I 9 % &9 # fzag {41 siar 2 91 ACCIDENT &1 &2 %41
g ?

1 6 @ 17
@ 8 @ 9
Options:

E4E350107619. 1
EAEZS0107620. 2
645350107621, =
45350107622 4



Question Number : 22 Question Id : 64635027420 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following fractions is the result of the sum of an integer and its reciprocal?

15 26

(1) — (2) 3

a6 a7

(3) T (4) =
Options:

645350107523 1
EAEZS0107624. 2
EAEZ50107625. 2
EAEZ50107626. 4

Question Number : 22 Question Id : 64635027420 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Feffiaa & @ = @9 o quites it 39 sgard % 9 1 aftong 27

15 26
(1) 3 (2) 5
56 a7

Options:
E4E350107623. 1

EAEZS0107624. 2
EAEZ50107625. 2
EAEZ50107626. 4

Question Number : 23 Question Id : 64635027421 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The average of 35 raw scores is 18. The average of first seventeen of them is 14 and that of
last seventeen 15 20. Find the eighteenth raw score.

(1) 42 (2) 46
3 52 4 56
Options:

EAEZ50107627. 1
EAEZS0107628. 2
EAE350107629. 5
45350107630, 4

Question Number : 23 Question Id : 64635027421 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



35 Ul 1 Ed 18 21 e YUH HIE H A 14 2 i #faw wm w 3w 20 2
3gREdl UTich 1 &R ?

1 42 (2) 46
@ b2 4 56
Options:

EAE350107627. 1
4350107628, 2
645350107629 3
45350107520 4

Question Number : 24 Question Id : 64635027422 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A train leaves Agra at 5 am and reaches Delhi at 9 am. Another train leaves Delhi at 7 a.m
and reaches Agra at 10:30 am. At what time do the two trains cross each other?

(1) 6:36 am (2) 6:56 am
(3) 7Tam (4) 7:56 am
Options:

E4E350107631. 1
EAE350107632. 2
645350107633, 3
645350107534, 4

Question Number : 24 Question Id : 64635027422 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

UF TS ARE H W@ 5 a9 WEIH w2 2R g w0 a9 wgedl 31 3 W@mel fog o wa: 7
o WU Rt 2 A e | e 10,30 99 ugedl 2, & gHi emizan FRa ane o uE-gu & aed
T g TS 7

(1) Ud: 6:36 (2) ¥: 6:56
B) "a: TES ) wE: 756 99
Options:

E4E350107631. 1
EAEZ50107632. 2
EAE350107633. 3
645350107634 4

Question Number : 25 Question Id : 64635027423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Sanjay sold an article at a loss of 25%. If the selling price had been increased by Rs. 175,
there would have been a gain of 10%. What was the cost price of the article?

(1) Rs. 350 (2) Rs. 400
(3) Rs. 500 4y Rs. 750
Options:

645350107635, 1
45350107636, 2
EAEZS0107637. 2
EAEZ50107638. 4

Question Number : 25 Question Id : 64635027423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A A U axq <l 25 gfawa i gz Gkt ) afg Gk gea | 175 . & gfg g @ ar 10 wfaee
AT TN 24Tl 39 9% 6l AU Hod /b1 °17

(1) a50 %, (2) 400 =,
(3) 500 =, 4) 750 %,
Options:

E4E350107635. 1
EAE350107636. 2
645350107637, 3
45350107535 4

Question Number : 26 Question Id : 64635027424 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If proposition ‘All republics are grateful’ 1s taken to be true then which of the following
propositions can be false?

i)  Republics are not grateful

(11) Some republics are not grateful
(111) No republics are grateful

v) Some republics are grateful

Select the correct answer from the options given below :
(1) () only

(@) () only

(3) @), @) and (1)

(4) (1) and (i1)

Options:

C4AEZE0107829 1

C4E2E0107540 2

645350107641, =
45350107542 4



Question Number : 26 Question Id : 64635027424 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
afe a%F ar ‘wfl T Fa9 2 A oW fomn s @ @ FEfafaa § 8 s F e g 8@ e
2

i) oA Fas A E

(1) %@ TURA Faw A 2
(i) 13 i TTUES Fad 2 2l
iv) T TR FaT |

el fo e faered # @ o 39 g
(1) Fad (i)
(2) Fad (ii)

(3) 1), (i1) AW (iii)
@ @) @ ai)
Options:

645350107639 1
645350107640 2

645350107641, 2
45350107542 4

Question Number : 27 Question Id : 64635027425 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Given below are two premises with four conclusions drawn from them. Which of the
following conclusions could be validly drawn from the premises?

Premises:
(1) Some bags are tables
(1) All bags are chairs.

Conclusions :

(a) Some tables are chairs
(b) Nochair 1s table

(c) Some chairs are bags

(d) Some bags are not tables

Select the correct answer from the options given below :

(1)  (a)and (© (2) (b), (¢) and (d)
(3  (@and(d) 4 (b) only
Options:

EAE350107643. 1



EAEZ50107644. 2
645350107645, =
45350107646, 4

Question Number : 27 Question Id : 64635027425 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=t gt s g fo o 2, o = fead um fee e 2) Faafafae & @ saa Beed 31 snam et o
39 B9 I 99 TR0 A1 dad 2

SER T : (i) F9 & W 2

i) =t dh w5 2
e - (a) F & FRET 2|
(b) =% oft Fff e 78 21
(c) F® HAT T F
(d) F& 1 e A
e few o farerei ® o T 3 g
1) (&) () 2 ), © A (D)
@) (&) () 4) ad (b)

Options:

645350107643 1
48350107644 2
45350107645 =2
645350107646, 4

Question Number : 28 Question Id : 64635027426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When subject and predicate of both the premises are the same but they differ in quality only,
1t 18 known as

(1) Contradictories (2) Contraries
(3) Subaltern (4) Super altern
Options:

645350107647, 1
EAEZS0107648. 2
EAE350107649. =
EAEZ50107650. 4

Question Number : 28 Question Id : 64635027426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



foredt smar e =1 3ggv SR g gFi o @ &1, df 3 Sae uEs | fE g, i 92 e

(1)  faard® (2) fEemH
(3) St @) wusEf
Options:

645350107647, 1
645350107648, 2
E4E350107649. =
EAEZ50107650. 4

Question Number : 29 Question Id : 64635027427 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify the reasoning in the following argument:

Pre-active stage of classroom teaching 1s important just as pre-learming preparation stage of
communication’

(1) Hypothetical (2) Deductive
(3) Inductive (4) Analogical
Options:

645350107851, 1
EAEZS0107652. 2
EAE350107653. 3
EA5350107654. 4

Question Number : 29 Question Id : 64635027427 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

freferfiga a% 9 sa zaan & gz=m fifso

w1 e 1 qE afRArea =I00r 31 & HEay g 2, e guwor i gef- wiferm aard s =

(1)  9HEcaIcH® (2) P
(3) HANHATHS (4) HEIATHS
Options:

645350107851, 1
EAEZS0107652. 2
EAE350107653. 2
EA5350107654. 4

Question Number : 30 Question Id : 64635027428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The proposition ‘No red is black’ is equivalent to which of the following propositions?

1) No blackis red

11)  All red are black

(i11) Some red are not black
(iv) HRed is not black

Select the correct answer from the options given below :

(1) (1), (1), (11) and Qv) (2) (1) only
(3 @ and (v) 4) Gv) only
Options:

645350107655, 1
645350107556, 2
EAE350107657. 2
EAEZ50107658. 4

Question Number : 30 Question Id : 64635027428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

THRATE FI5 AT FIA A2l & FEATRgd H H {5 dFaed & GHqed 27

i) I3 Flel o AF 2
() =t I w2
(i) FO AT Fed A 2

(iv) @ e 921 2

A1 fou 71y, forepey & @l I g

O O, G), i) M Gv) (2 (ii) Fa

@ ) @ waT ()
Options:

E4E350107655. 1
EAE350107656. 2
645350107657, 3
45350107558, 4

Sub-Section Number: 4
Sub-Section 1d: 6463501344
Question Shuffling Allowed : Yes



Question Id : 64635027429 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension

Consider the following table that shows expenditures of a company (in lakh rupees) per
annum over the given vears. Answer the questions based on the data contained in
the table :

Item of expenditure

Year | Salary | Transport | Bonus | Interest on Loans | Taxes
2008 | 150 90 2.00 20.0 80
2009 | 180 100 2.50 30.5 95
2010 | 200 110 2.95 35.5 105
2011 | 240 115 3.00 40.0 85
2012 | 250 125 3.25 425 100

Sub questions

Question Number : 31 Question Id : 64635027430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is the average amount of interest per year which the company had to pay (in Rupees)
during this period?

(1) 30.5 Lakh (2) 32.7 Lakh
(3) 33.7 Lakh (4) 35.5 Lakh
Options:

645350107559, 1
EAEZS0107660. 2
EAE350107661. =
EAE350107662. 4

Question Number : 32 Question Id : 64635027431 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The total amount of bonus paid by the company during the given period is approximately
what percent of the total amount of salary paid during this period?

(1) 0.9% (2) 1.3%
(3) 1.6% 4) 2.0%
Options:

E4EZ50107663. 1
EAE350107664. 2
EAE350107665. =
45350107666, 4

Question Number : 33 Question Id : 64635027432 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Total expenditure of all the items in 2008 was approximately what percent of the total
expenditure in 20127

(1)  66% (2) 69%
(3) 72% @ 75%
Options:

645350107667, 1
45350107568, 2
EAEZ50107669. =
EAEZE0107670. 4

Question Number : 34 Question Id : 64635027433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The approximate ratio between the total expenditure on taxes for all the yvears and the total
expenditure on transport for all the vears is

(1) 31 :40 2) 25:36
(3) 27 : 80 4) 31:36
Options:

E45350107671. 1
EAE350107672. 2
645350107673 3
45350107574, 4

Question Number : 35 Question Id : 64635027434 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The approximate ratio between the total expenditure of the company 1n the year 2008 and
the total expenditure of the company in the year 2009 1s

(1) o7 1 15 (2) 52:.68
(3) 57 : 68 (4) 68:57
Options:

645350107675, 1
45350107676, 2
EAEZS0107677. 3
EAEZ50107675. 4

Question Id : 64635027429 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label | Comprehension
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2008 | 150 | 90 2.00 20.0 80
2009 | 180 | 100 | 2.50 50.5 95
2010 | 200 | 110 | 2.75 85.5 105
2011|240 | 115 | 3.00 40.0 85
20121250 | 125 | 3.25 42.5 100

Sub questions

Question Number : 31 Question Id : 64635027430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

9 Hafa § el #1 ufqad e fimd sars 1 yiraE FE 9er? (W9 )

(1) 30.5 Tig (2) 32.7dg
(3) 33.74d™@ (4) 355
Options:

E4EZ50107659. 1
EAEZ50107660. 2
E4E5350107661. =
45350107662, 4

Question Number : 32 Question Id : 64635027431 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ved Aafy ® weE gro e i 18 A i F1 i da e afdr s e fea afawe 27

(1) 0.9% (2) 1.3%
(3) 1.6% 4) 2.0%
Options:

645350107663, 1
45350107564, 2
EAEZS0107665. =
EAEZ50107666. 4

Question Number : 33 Question Id : 64635027432 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gy 2008 W oul wai ux AT T =9 a9 2012 H Fel 549 1 @ foRaAn gl 27
1)  66% (2) 69%

@)  72% 4) T5%



Options:

645350107667 1
E4E350107EEE 2
45350107669 =2
45350107670, 4

Question Number : 34 Question Id : 64635027433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1 ol ol % o i W R T Fa ol i 7 oft el % ol 6 T a1 i s e 2

(1) 31:40 (2) 25:36
(3) 27 : 30 (4) 31:36
Options:

645350107671, 1
45350107672 2
645350107673 3
EAEZ50107674. 4

Question Number : 35 Question Id : 64635027434 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ad 2008 # Ferfl gru R T et suw @ ad 2009 9 w % Fel S99 H SHHIHG UG 3

1 BT:75 (2) 52:68
3) 57:68 (4) 68:5T7
Options:

E4EZ50107675. 1
EAEZS0107676. 2
EAE350107677. 3
45350107675, 4

Sub-Section Number: 5
Sub-Section 1d: 6463501345
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635027435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A computer has main memory of 960 KEytes. What 1s the exact number of bytes contained in
this memory?

(1) 960 = 8 (2) 960 x 1000
(3) 960 x 1024 (4) 960 x 1024 x 1024
Options:

E4E350107673. 1
45350107680, 2
645350107681, =



EAEZ50107682. 4

Question Number : 36 Question Id : 64635027435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ferfl et i gea wia # 960 KBytes 21 34 Sfd H Fifga sz i ot aean #4127

(1) 960 x 8 (2) 960 x 1000
(3) 960 x 1024 4) 960 x 1024 x 1024
Options:

EAE350107673. 1
EAEZ50107680. 2
645350107681, =
645350107682 4

Question Number : 37 Question Id : 64635027436 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The convenient place to store contact information for quick retrieval 1in e-mail 1s

(1) Address box (2) Message box
(3) Address book (4) DMessage book
Options:

EAE350107683. 1
EAE350107684. 2
645350107685, =
645350107686, 4

Question Number : 37 Question Id : 64635027436 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

§oiver i vafea . Wk 36 For s ET TR Y R EREE SHE © 2

(1)  war uferr (g™ diay) (2) He iRt (BUS diaw)
(3) A yfeqH (TgH F) @)  =ew qfeqd (WO )
Options:

645350107683, 1
453501076384, 2
EAEZS0107685. =
EAEZ50107686. 4

Question Number : 38 Question Id : 64635027437 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SMTP 1s an acronym for
(1) Simple Mail Transport Protocol (2) Simple Mail Terminal Protocol
(3) Simple Mail Transfer Protocol (4) Simple Mail Transition Protocol

Options:



EAE350107687. 1
EAE350107688. 2
645350107689, =
645350107530 4

Question Number : 38 Question Id : 64635027437 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Uy v 4 o e aftedi 27

(1)  Toore da grdrd e (2) fre de e e
(3  Tooa wa gmwt W (@) T 2 gfsrer g
Options:

EAE350107687. 1
EAEZ50107688. 2
645350107689, =
645350107530 4

Question Number : 39 Question Id : 64635027438 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following file format is not a video file format?

(1) AVI (2 MOV
(3) MP4 4 .JPEG
Options:

6453501076591, 1
45350107532, 2
EAEZ50107633. 2
EAEZ50107694. 4

Question Number : 39 Question Id : 64635027438 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fefafaa & 4 #9F9 o wEa @ difz9 wEa 1 sHe A8 27

1)  AVI (2) MOV
@  MP4 (49 .JPEG
Options:

E4E350107691. 1
EAEZ501076392. 2
E453501076393. 3
6453501076594, 4

Question Number : 40 Question Id : 64635027439 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which of the following 1s an online store house of all academic awards like certificates,
diplomas, degrees, marksheets etc?

(1) SWAYAM (2) National Digital Library
(3) National Academic Library (4) National Academic Depository
Options:

6453501076595, 1
45350107636, 2
6453501076397, 3
EAEZ50107698. 4

Question Number : 40 Question Id : 64635027439 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fefrfiga 9 & ot et sarfan gur swoeE, oamn, 22l A9 seofe & A =20 g9 4 0
g7

(1)  &=FH (2) AsAa fesftea asd
(3)  AvHd whsiue agsd (4) HAvAa vhefe feifaed
Options:

6453501076595, 1
645350107636, 2
645350107697, 3
EAEZS0107638. 4

Question Number : 41 Question Id : 64635027440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Montreal protocol aims at

(1) Reduction in emissions of green house gases
(2) Phasing out ozone depleting substances
(3) Prohibiting transboundary movement of hazardous waste

(4) Enhancing cooperation among UN member states for peaceful uses of nuclear energy

Options:

45350107699, 1
45350107700 2
645350107701, 5
645350107702 4

Question Number : 41 Question Id : 64635027440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350107699 1
645350107700 2
648350107701 =2
45350107702 4

Question Number : 42 Question Id : 64635027441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Efficiency of electrical power generation is least amongst the following sources of energy in

case of
(1) Solar (2) Wind
(3) Geothermal (4) Nuclear
Options:

645350107703 1
45350107704, 2
EAEZ50107705. 2
EAEZ50107706, 4

Question Number : 42 Question Id : 64635027441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fefafiaa 9 @ =i & e |id d ~gan fra sameA g 2

(1) =R (2) ag
(3) A (4) ArhrEE
Options:

E4EZ50107703. 1
EAEZ50107704. 2
E4E350107705. 3
45350107706, 4

Question Number : 43 Question Id : 64635027442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Taj Mahal 1s mainly threatened by the deleterious effects of

(1) Sulphur dioxide (2) Chlorine
(3) Oxygen (4) Hydrogen
Options:

645350107707, 1
645350107708, 2
645350107703, 3
EAEZ50107710. 4

Question Number : 43 Question Id : 64635027442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ar Hgd W gEaa: Aefafiaa § 4 fras afaga wma $i s 27

(1)  Ho% SHIEE (2)  Fdife
(3) e (4) zEEsA
Options:

E4E350107707. 1
EAEZ50107708. 2
EAE350107709. 2
E4E350107°710. 4

Question Number : 44 Question Id : 64635027443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Statement I . Earthquake ‘A’ 1s 5 on Richter scale and Earthquake ‘B’ 1s 8 on the same
scale. Earthquake B’ has 1000 times the wave amplitude compared to ‘A’.

Statement [I : The energy released in ‘B’ 1s three times that of ‘A’

Choose the correct option :

(1) Statement [ 1s correct and Statement 11 1s incorrect
(2) Statement I and II are correct

(3) Statement II 1s correct and [ 1s incorrect

(4) Statement I and I1 are incorrect

Options:

645350107711 1
645350107712 2
645350107713 =
48350107714 4

Question Number : 44 Question Id : 64635027443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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C4E250107714. 4

Question Number : 45 Question Id : 64635027444 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In large parts of Eastern India, the ground water 1s contaminated by

(1)  Arsenic (2) Lead
(3) Mercury (4) Nickel
Options:

E4E350107715. 1
EAE350107716. 2
645350107717, 3
45350107715 4

Question Number : 45 Question Id : 64635027444 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 46 Question Id : 64635027445 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is a non-conventional learning programme in higher education?
(1) Swayam

(2) Face-to-face teaching-learning

(3) Tutorial class

(4) Seminar

Options:

645350107719 1
645350107720 2
645350107721 =
E4E350107722 4

Question Number : 46 Question Id : 64635027445 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350107719 1
645350107720 2
48350107721 2
45350107722 4

Question Number : 47 Question Id : 64635027446 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



For the day to day administration of University, which of the following bodies 1s responsible?
(1) Senate

(2) Syndicate/Executive council

(3) Student council

(4) Academic council
Options:

E4EZE0107722. 1
646350107724 2
46350107725 3
646350107726 4

Question Number : 47 Question Id : 64635027446 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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645350107722 1
645350107724 2
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48350107726 4

Question Number : 48 Question Id : 64635027447 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements represent the main functions of UGC?

1) Recognition of institutions
(11) Maintenance of quality and standards
(111) Appomtment of Vice Chancellor
(iv) Giving grants to institutions
(v) Making state governments responsible for educational development
Choose the correct answer from the options given below :
() (@), @) and (1)
(2 (), (1) and @(v)
3 @), @) and (v)
(4) (11), (111) and (v)
Options:
£48350107727. 1
646350107728, 2

EAEZ50107729. 2
EAEZ50107730. 4

Question Number : 48 Question Id : 64635027447 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350107727 1
E4E350107728 2
48350107729 2
645350107720, 4

Question Number : 49 Question Id : 64635027448 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The main aim of the faculty recharge scheme of UGC was to

(1) Address the shortage of faculty in higher education institution

(2) Upgrade the teaching slkalls of the faculty

(3) Upgrade the research infrastructure for the faculty in colleges and universities

(4) Strengthen the academia — industry hinkage
Options:

646350107731, 1

646350107732, 2

646350107733, 3

646350107734 4
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Single Line Question Option : No Option Orientation : Vertical
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645350107731 1
645350107732 2
6463501077332 2
45350107724 4

Question Number : 50 Question Id : 64635027449 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Name the scheme which facilitates academic and research collaboration between Indian

Institution and the best institution in the world

(1) ICSSR - IMPRESS

(2) Staff Development Scheme
(3) SPARC

(4) Institutional Development Scheme
Options:
422350107735 1
64350107736 2
646350107737 3
646350107738, 4

Question Number : 50 Question Id : 64635027449 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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645350107735, 1
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EAE350107737. 2
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Options:

645350107739 1
48350107740 2
45350107741 =2
45350107742 4

Question Number : 51 Question Id : 64635027450 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E350107739. 1
EAEZ50107740. 2
645350107741, 2
E4535010774Z 4

Question Number : 52 Question Id : 64635027451 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Correct Marks: 2 WrongMarks: 0
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Options:

645350107743 1
645350107744 2
48350107745 =2
645350107746, 4

Question Number : 53 Question Id : 64635027452 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350107747 1
48350107748 2
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Correct Marks: 2 Wrong Marks: 0
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Options:
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48350107748 2
48350107749 =2
645350107750, 4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 54 Question Id : 64635027453 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0



Options:

645350107751 1
645350107752 2
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645350107754 4

Question Number : 55 Question Id : 64635027454 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350107755 1
645350107756 2
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Correct Marks: 2 Wrong Marks: 0
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Options:

645350107755 1
E4E350107756 2
48350107757 2
645350107753 4
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Correct Marks: 2 Wrong Marks: 0

0211231 B e ot | 2 I £ -2 P | e o O 121 R 420

1. e
2. qESH
3. gFed
4. =9

Options:

645350107759 1
48350107760, 2
645350107761, 5
45350107762 4
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Correct Marks: 2 Wrong Marks: 0
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Correct Marks: 2 Wrong Marks: 0
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645350107765 o
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Correct Marks: 2 Wrong Marks: 0
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Correct Marks: 2 Wrong Marks: 0
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Correct Marks: 2 Wrong Marks: O
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 61 Question Id : 64635027460 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Question Number : 61 Question Id : 64635027460 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Question Number : 62 Question Id : 64635027461 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Correct Marks: 2 Wrong Marks: 0
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Correct Marks: 2 WrongMarks: 0



HAGTrerE FH I FAa?

1 60
2. 360
3. 180
‘A 90

Options:
645350107531, 1

EAEZS0107832. 2
EAE350107833. 2
E4E350107834. 4

Question Number : 75 Question Id : 64635027474 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frafeiady F v Feda wafa?

2. UEHH
3. W™
4,  THE

Options:

645350107825 1
645350107836 2
645350107837 2
645350107338 4

Question Number : 75 Question Id : 64635027474 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



2. TEHE
3 qu
4. =9HE

Options:

6483501073325 1
45350107236 2
645350107827 5
645350107828 4

Question Number : 76 Question Id : 64635027475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

UFEH dRaT Fia g wara?

1 1RSI
2. WEw
3. =qEeid:
4. OFEw

Options:

645350107339 1
645350107340 2
648350107241 =2
645350107342 4

Question Number : 76 Question Id : 64635027475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1. g=w

2. WEw

3. i
4. THE:

Options:

645350107829 1
645350107340, 2
645350107341, =2
E4E350107342 4

Question Number : 77 Question Id : 64635027476 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AN e 9 & gafe

Options:

645350107343 1
645350107344 2
648350107245 =2
645350107346, 4

Question Number : 77 Question Id : 64635027476 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

48350107342 1
45350107244 2
645350107845 5
645350107346, 4

Question Number : 78 Question Id : 64635027477 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frrafeieay & smeefer amme?

2. SR
3. fe=q
4. wAITEH

Options:

645350107347 1
645350107848 2
645350107349 =
645350107350, 4

Question Number : 78 Question Id : 64635027477 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



. &
2. #EM
3. femm
4.  ATO@EH

Options:

48350107347 1
45350107248 2
645350107849
645350107350, 4

Question Number : 79 Question Id : 64635027478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FIAYETE 7 FAq! Tl qaial?

1. ==
2. |
3. geE:
4. I

Options:

6483501073851 1
48350107852 2
645350107852
645350107854 4

Question Number : 79 Question Id : 64635027478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1. =%
2. oW
3. geEh:
4.

Options:

645350107851, 1
645350107352 2
E4E350107352 2
45350107254 4

Question Number : 80 Question Id : 64635027479 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘S’ G Tes TaraarHt?
1.  geerd:
2. U=
3. gFA
4,  =TE
Options:

645350107555, 1
EAEZS0107856. 2
EAE350107857. 2
E45350107858. 4

Question Number : 80 Question Id : 64635027479 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



‘S’ F e araart?

1. gEEm:
2. quA
3. wEE
4. ===

Options:

645350107355 1
645350107856 2
645350107857 =
645350107358 4

Question Number : 81 Question Id : 64635027480 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AT 2he qUTeEToT T
1. TF
2.
3. W
4. ==
Options:

E4E350107859. 1
E4E350107860. 2
6453501073861, =
45350107362, 4

Question Number : 81 Question Id : 64635027480 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



S TAEF AT Zhlel QRIVTEAETUI TIoTaT-?

1. U=
2. =W
.
4. 24

Options:
45350107559, 1

EAEZ50107560. 2
E4E350107861. =
EAE350107862. 4

Question Number : 82 Question Id : 64635027481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Aaay Fad £ FHeEd?

Options:

645350107863 1
645350107364, 2
648350107365 =2
45350107266, 4

Question Number : 82 Question Id : 64635027481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

645350107362 1
645350107864 2
645350107865 =
6453501073866, 4

Question Number : 83 Question Id : 64635027482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

EIEYTIT % T2 TEeTarT T+ad?
. T
2. HEMETH
3. TEUUE
4. TERUUE
Options:

E4EZ50107867. 1
EAEZ50107868. 2
E4E350107869. =
645350107870, 4

Question Number : 83 Question Id : 64635027482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



. ETE
2. HEMEad
3. TEAUE
4. TR

Options:

645350107367, 1
48350107368 2
45350107269 =2
45350107870 4

Question Number : 84 Question Id : 64635027483 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

THTFIE: e FRE I

Options:

645350107871 1
48350107872 2
E4E350107E72 2
645350107874 4

Question Number : 84 Question Id : 64635027483 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

645350107871 1
6453501073872 2
48350107372 2
45350107274 4

Question Number : 85 Question Id : 64635027484 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ST AT HETHRAE i Ja10T [Geaeedl I3 au- radra?

1. EF9Em
2. FuiHEre
3. wreoETe
4.  ZIgETOr

Options:

645350107875 1
645350107876 2
E4E350107E77. 2
E4E350107E7E 4

Question Number : 85 Question Id : 64635027484 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ST AT HETHRAE i Ja10T [Geaeedl I3 au- radra?

1. EF9Em
2. FuiHEre
3. wreoETe
4.  ZIgETOr

Options:

645350107875 1
645350107376 2
48350107377 2
E4E350107E7E 4

Question Number : 86 Question Id : 64635027485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘FIIE M IE AT TeOIH & SHageaan:’ TeThRd Ju-ihs 5 9= HFud?

Options:

645350107879 1
645350107880, 2
645350107881, =
48350107282 4

Question Number : 86 Question Id : 64635027485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘FIE M IE A TeSIH & SHageaar:’ HeThRd Ju-ihs g 9EE Fud?

Options:

645350107879 1
645350107380, 2
646350107381, 2
48350107382 4

Question Number : 87 Question Id : 64635027486 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ErEve: FHE I e

Options:

45350107382 1
645350107884 2
645350107885 =
6453501073586, 4

Question Number : 87 Question Id : 64635027486 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

645350107882 1
645350107384 2
645350107385 2
483501073586 4

Question Number : 88 Question Id : 64635027487 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘gl T’ 5= Frsd:?

3

Options:

645350107887 1
645350107888 2
6453501073893 2
48350107390 4

Question Number : 88 Question Id : 64635027487 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



b

Options:

645350107887 1
483501073888 2
45350107829 =2
645350107390, 4

Question Number : 89 Question Id : 64635027488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘HEd’ T & I A
1. A, TSIy
2. HEFII, AT
3. WIS, ATEETITE
4. WTRERA, TR

Options:

645350107891, 1
645350107892 2
645350107833 2
645350107394 4

Question Number : 89 Question Id : 64635027488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“HEd’ TR & IO oA
1. A, ARSI
2. HeEO, HEEIae
3. WIS, ATEETITE
4. WTRERA, TR

Options:

645350107891, 1
645350107892 2
645350107833 2
645350107394 4

Question Number : 90 Question Id : 64635027489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FroiraTe: FRE g R
Sk
RlEk L

3. SEaadgE

4.  SAfga

=

-2

Options:

645350107395 1
645350107396, 2
48350107397 2
45350107298 4

Question Number : 90 Question Id : 64635027489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FRETS: FieH 0T &ee?

%

Options:
4250107595, 1

EAEZS0107896. 2
EAE350107897. 2
EAEZ501078958. 4

Question Number : 91 Question Id : 64635027490 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ISRFSIHE a1 distarata 9 e

1. =
2. IO
3. T

4. @A

Options:

45350107599, 1
645350107900, 2
645350107901, 5
645350107302 4

Question Number : 91 Question Id : 64635027490 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



1. =R

2. IuTEE:
3. T

4. A

Options:

645350107399 1
E4E3501073900, 2
45350107901, =
645350107902 4

Question Number : 92 Question Id : 64635027491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Th’ﬂ'ﬂﬁ?ﬁl’lﬁ'{ﬁ%ﬁm T2

1. =@R:
2, 99
3. e
4 -

Options:

645350107303 1
645350107304 2
648350107905 =2
45350107908, 4

Question Number : 92 Question Id : 64635027491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



THATEHEETAR. Fi faamer: a7

1. S«
2, 99F
3. oo
4. EEE

Options:

645350107902 1
645350107304 2
645350107305 2
48350107906, 4

Question Number : 93 Question Id : 64635027492 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AR Woeq: Tiete: rgs=ad?

1. D
2 HANTH:
3 Feram:

4. G’QFE

Options:

4350107307, 1
645350107908 2
645350107909
645350107310, 4

Question Number : 93 Question Id : 64635027492 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



1 AR
2 HANTH:
3 T

Options:

645350107907 1
645350107308 2
645350107309 =
48350107910 4

Question Number : 94 Question Id : 64635027493 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fafe e a1 guteas: fEaigd:?
1. e
2. THEAE
3. FEEme
4. HEwe

Options:

645350107911 1
645350107912 2
645350107313 =
48350107914 4

Question Number : 94 Question Id : 64635027493 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3. FRENR
4. e

Options:

645350107911 1
648350107912 2
45350107912 =
645350107914 4

Question Number : 95 Question Id : 64635027494 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

faferdt st o st dame
1 R
2. g
3. fersiom
4. i
Options:

E4EZ50107315. 1
EAEZ50107316. 2
645350107317, 2
6453501079158 4

Question Number : 95 Question Id : 64635027494 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



2. T=EH
3. fdersiong
4. Hoaem

Options:

645350107915 1
645350107916 2
645350107317 =
6453501079318 4

Question Number : 96 Question Id : 64635027495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AR, AT Shaaaianiedd: aur: F=ad?

1. #F
2. e
3. g
4. TE:

Options:

645350107919 1
645350107920 2
48350107921, =2
45350107922 4

Question Number : 96 Question Id : 64635027495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1. ®FT
2. e
3. gE
4.  TE:

Options:

645350107919, 1
45350107920 2
645350107921 5
645350107322 4

Question Number : 97 Question Id : 64635027496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

BTG SicTes?

Options:

645350107922 1
645350107924 2
645350107925 =
645350107926 4

Question Number : 97 Question Id : 64635027496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1. fefrm
2. TfaEm
3. wEiaER
4. wugfaum

Options:

645350107923 1
48350107924 2
45350107925 =2
645350107926 4

Question Number : 98 Question Id : 64635027497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FAAATTO o AT wafd?
1. gFaee
2. HferEwT
3. TR
4. o
Options:

645350107327, 1
EABZS0107328. 2
EAEZ50107329. 2
EAEZ50107320. 4

Question Number : 98 Question Id : 64635027497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Options:

48350107927 1
45350107928 2
645350107929 5
645350107920 4

Question Number : 99 Question Id : 64635027498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

NEaEMIGRER R ELE RE e Ko L I

l. e

2. FeliaEsy
3. W

4, EPIEIRE L]

=

Options:

E4E350107921. 1
645350107932 2
645350107922
645350107934 4

Question Number : 99 Question Id : 64635027498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



1. Fegrem

2. FeeEge
3. WEq

4 HTAT9=H

Options:

645350107931 1
E4E350107922 2
45350107922 =2
645350107924 4

Question Number : 100 Question Id : 64635027499 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T ST T & g S
1. g=go:
2 EEELE
3 SR
4, THIGIHI:
Options:

645350107335 1
45350107336, 2
E4EZ50107327. 2
EAEZ50107338. 4

Question Number : 100 Question Id : 64635027499 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



1 qFYT:
2 ECLELE
3 ST
4, THIGIHI:

Options:

645350107935 1
483501079326 2
45350107927 2
645350107928 4

Question Number : 101 Question Id : 64635027500 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e Rt Rrger

I;; qs:

4. Tt

Options:

645350107929 1
645350107940 2
645350107941 =
645350107942 4

Question Number : 101 Question Id : 64635027500 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



4. T

Options:

645350107929 1
645350107940 2
645350107941 =
645350107942 4

Question Number : 102 Question 1d : 64635027501 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AT st =R

1. TTATEAT:
2. gt
3. AR

4. FHREALATRA:

Options:

645350107942 1
645350107944 2
645350107945 =
645350107946 4

Question Number : 102 Question 1d : 64635027501 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ArTieEy g TEIRa At & aai?

1.  WTHTEAT:
.4 tar:
3. AR

4. FHINEAER:

Options:

645350107943 1
48350107944 2
45350107945 =
645350107946, 4

Question Number : 103 Question Id : 64635027502 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT SATEET AT SIS 17
1. QR
2. HARGUERREHIT
3. A
4. WG
Options:

645350107547, 1
6453501073948 2
645350107943 5
EAEZ50107350. 4

Question Number : 103 Question Id : 64635027502 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TS STl ST 17

|

4. ARSI

Options:

645350107947 1
48350107948 2
45350107949 =
645350107950, 4

Question Number : 104 Question Id : 64635027503 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT qdERR: T @ishddr

Options:

645350107951, 1
645350107952 2
645350107353 =
6453501073954 4

Question Number : 104 Question 1d : 64635027503 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

645350107951, 1
645350107952 2
645350107353 =
645350107354 4

Question Number : 105 Question 1d : 64635027504 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TUTERH FAEEH?
1. i
2. =gEE
3. s
4. g
Options:

645350107355, 1
645350107356, 2
E4E350107357. 2
EAE350107358. 4

Question Number : 105 Question Id : 64635027504 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1. e

2. AR
3. oglem
4,  ugEYq

Options:

645350107955 1
645350107356, 2
645350107357 2
48350107958 4

Question Number : 106 Question Id : 64635027505 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FANTITa AR 0 AT 2
1. Hgm:
2. FurgsEl
3 HE:
4 1T
Options:

E4E350107359. 1
E4E350107360. 2
645350107361, 3
45350107362 4

Question Number : 106 Question Id : 64635027505 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1 L CUEE
2. FEEEET
3 HTOT:
4.  HgOT:

Options:

648350107959 1
48350107960, 2
645350107961, o
45350107962 4

Question Number : 107 Question Id : 64635027506 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T gia: it
1. T
2. TrfEem
3. =gEe
4. afeH
Options:

E4E350107363. 1
EAE350107964. 2
645350107365, 2
645350107366, 4

Question Number : 107 Question Id : 64635027506 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fafarerst g wtafae?

1. fefeen
2. Tfem
3. =gE
4. OFiae

Options:

645350107962 1
645350107964 2
645350107365 =
645350107966, 4

Question Number : 108 Question Id : 64635027507 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

At i S e
| [ | E8
2 R |
3 EL K
4. W
Options:

645350107367, 1
45350107368, 2
E4EZ50107369. =
EAEZ50107370. 4

Question Number : 108 Question Id : 64635027507 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



1 EICILH
2 EE}
3 ERE
4. Hg

Options:

645350107967, 1
645350107968, 2
645350107369 2
48350107970 4

Question Number : 109 Question Id : 64635027508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HATUEd 95 HaT: Fia?

1. U9
2. w3
3. 9H
4. ot

Options:

648350107971 1
48350107972 2
645350107972
645350107974 4

Question Number : 109 Question Id : 64635027508 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HATAET 9 HaT: Fia?

1 RE}
2. W
3 3]

4. IE

Options:

645350107971 1
645350107972 2
645350107973 o
645350107974 4

Question Number : 110 Question Id : 64635027509 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T FH AT WTH T qGe2a- 1 [dead?
I wgm
2. HH
3. TUEEH
e T
Options:

645350107375, 1
EABZS0107376. 2
EAEZ50107377. 3
EAEZ50107378. 4

Question Number : 110 Question Id : 64635027509 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T FH AT T T qGeva- 1 [aera?
L. wgim

2. g
3 TUTHTHEH
4 9%

Options:

645350107975 1
645350107976 2
645350107977 2
48350107978 4

Question Number : 111 Question Id : 64635027510 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T TEeaE & TR ?

. ot
2. EETOITEAT
3. wEuerdt

4. gl

Options:

45350107979 1
645350107980, 2
645350107981, =
645350107982 4

Question Number : 111 Question 1d : 64635027510 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



oY MEeaE & TR ?

. PEomEst
2. SAEIOITEt
3. qauerdt

| PE |

Options:

645350107979 1
645350107380, 2
6453501079381, 2
48350107922 4

Question Number : 112 Question Id : 64635027511 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT T I A 3 i ?

1 T E=TH
2. TETE eI
3. SR TIETeRT

Options:

645350107982 1
645350107984 2
645350107385 =
645350107336, 4

Question Number : 112 Question 1d : 64635027511 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1 T ETH:
2. TRISTEEEAE
3. IR

4. EEﬁﬂ%EﬂET

Options:

645350107983 1
645350107984 2
648350107985 =2
453501079286, 4

Question Number : 113 Question Id : 64635027512 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frsareratet Aanteat:, a3 ‘fiee s bty ?

1. oRE:
2. IEEE:
3. Egar
4.  FA:HGET:

Options:

645350107987 1
645350107988 2
6483501079289 =2
45350107990, 4

Question Number : 113 Question Id : 64635027512 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1. oRE:
2. IEEE:
3. Egar
4.  F:HGET:

Options:

645350107387 1
48350107988 2
453501079289 =2
645350107990, 4

Question Number : 114 Question Id : 64635027513 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Tre el FUT I AT F AR

1. fo=
2 qred

3 S e |

4. e

Options:

645350107991 1
6453501079392 2
6453501079393 =
48350107994 4

Question Number : 114 Question 1d : 64635027513 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



1. fo=
2 qred

3 S e |

4. e

Options:

645350107991 1
6453501079392 2
6453501079393 =
48350107994 4

Question Number : 115 Question 1d : 64635027514 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘FIUET AL T I AGE:?
. sy
2. FfeEny:
3 AT
4,  #AEE:
Options:

6453501073955, 1
453501073396, 2
E4EZ501073397. 2
EAEZ501073958. 4

Question Number : 115 Question Id : 64635027514 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘T AU S I AGUE:?

1. =y

2. Afeany:
3 I
4. HAEE:

Options:

645350107995 1
645350107996 2
645350107397 2
645350107938 4

Question Number : 116 Question 1d : 64635027515 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

STt 0T F: F | FAA?
1. 3=, AEREEEg:
2. =, YEEETE:
3. 9TeEl, JeHTEg:
4. wH, AGHT:

Options:

648350107999 1
45350102000, 2
645350108001, 5
45350108002 4

Question Number : 116 Question Id : 64635027515 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Options:

645350107999 1
645350108000, 2
645350108001, =
48350102002 4

Question Number : 117 Question Id : 64635027516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ATI-AI T FEAFROAET: &7

Options:

45350102002 1
645350108004 2
645350108005 =
645350108006, 4

Question Number : 117 Question 1d : 64635027516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



2. AEEaEE:
3 Hadans:
4 AT

Options:

645350108003 1
645350108004, 2
648350102005 =2
45350102008, 4

Question Number : 118 Question Id : 64635027517 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Sk |GG EES DR BRI el i e e o s e b L
1. #ar

%

3. TV
4.  EqvemEr:

Options:

645350108007, 1
48350102008 2
45350102009 =
645350108010, 4

Question Number : 118 Question Id : 64635027517 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



%

4. EqvemEr:

Options:

48350102007, 1
45350102008 2
645350108009 5
645350108010 4

Question Number : 119 Question Id : 64635027518 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AT I #:?
1. e

2. A

3. oI A

4. AT g

Options:

648350102011, 1
645350108012 2
645350108012 =
645350108014 4

Question Number : 119 Question Id : 64635027518 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



AT T 2

1. srfoen
2. Agom
3. wITeat sGFA
4. =t =

Options:

645350103011, 1
48350102012 2
45350102012 =
645350108014 4

Question Number : 120 Question Id : 64635027519 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SHATCAHIRIAA ATy ared gy ?

1. TEmHEEH

Options:

45350102015 1
645350108016, 2
645350108017 =
645350108018 4

Question Number : 120 Question 1d : 64635027519 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



2. FHATRERRIE
3.  guEwEy
4.  FaETGFH

Options:

645350105015, 1
645350108016, 2
645350108017 5
645350108018 4

Question Number : 121 Question Id : 64635027520 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT WA SATa Y WREAAE e : IS —

Options:

645350108019 1
45350108020 2
645350108021, =
645350103022 4

Question Number : 121 Question 1d : 64635027520 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



4. ﬂiﬁﬁ%:

Options:

48350108019 1
45350102020, 2
645350108021, 5
45350108022 4

Question Number : 122 Question Id : 64635027521 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AETAGTATAT Gich: Flcrae:?

1. fefee:
2. Tl
3. =g
4.  HZE:

Options:

645350108022 1
645350108024 2
6453501038025 =2
48350102026, 4

Question Number : 122 Question Id : 64635027521 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1. fefee:
2. TafEe
3, T
4.  HEE:

Options:

645350108022 1
645350108024 2
645350108025 =
645350103026, 4

Question Number : 123 Question 1d : 64635027522 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ARTALTIET: TAFT: F AT ?
1. g
2. dEEN
3. T@aEe
4.  QIEHARIEET
Options:

645350108027, 1
645350108028, 2
E4E350108029. =
EAEZ501080230. 4

Question Number : 123 Question Id : 64635027522 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



qRTATOTET: TART: F5l AT ?

. FEauEr

2. FEER

3. TF4ge

4.  ArEFIEEH

Options:

645350108027, 1
645350108028 2
645350108029 2
645350103030, 4

Question Number : 124 Question 1d : 64635027523 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘T ST AR A T—

Options:

48350108021 1
45350102022 2
645350108022
645350108024 4

Question Number : 124 Question Id : 64635027523 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

645350108021 1
645350108032 2
645350108033 2
48350102024 4

Question Number : 125 Question 1d : 64635027524 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FTIUATTATHIT: ST ST STHTa: ?
. FUvETg AT
2. EiEdEeg geeis

3. EFLGICATUIG] AT

4. WT ':rrc@%:

Options:

645350108025 1
645350108036, 2
645350108037, 2
48350102028 4

Question Number : 125 Question Id : 64635027524 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“FIIUGTHTSTHIT: S ST ?
. FOUEETg AAEadE
2. aElsarEg geegis:
3. IERAEHRUE ARPRAT:
4. gEEEET MG

Options:

645350108035, 1

E4EZ50108036. 2

645350108027, 3
EAEZ5010803E. 4

Question Number : 126 Question Id : 64635027525 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘TR T TEEEATH FAfd, § AT AW T8 | gU Se gar—sads arEid
FATTAE ?

=

TEETIF AT

4, TErara

Options:

645350103039 1
48350102040, 2
45350108041, 5
645350108042 4

Question Number : 126 Question Id : 64635027525 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘T F FHAGEATA wAd, § 99 Afaaw 79 | a9 $eri ger—isddar aizta

|

4, TETaT

Options:

645350108039 1
48350102040, 2
45350102041, =
645350108042 4

Question Number : 127 Question Id : 64635027526 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘TR A qreTen At wrn SEW SeEedaTd StheMit: A ag ST
ATAIIEOT Tl AT ?

1. SEEEaT
2. ErET
3. FEUTY

4, \TSEFIFIERTAT

L=

Options:

645350108042 1
645350108044 2
645350108045 =
645350103046, 4

Question Number : 127 Question 1d : 64635027526 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘wEr wfredi gEmen BRE g S SeeeuETy Swahi: FreE e
FATATIIZOT Tl AT ?

1. SeREaT
2. T
3. FIAE

4, \TSEFIFIERTAT

L=

Options:

645350108042 1
645350108044 2
645350108045 =
645350103046, 4

Question Number : 128 Question 1d : 64635027527 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
raatsaaE Mo |
I AT SR E 0T |

RIEI S T T T

1. SEgEET

2. FoWd

3. SEErRuEaEarE
4. ATEEET

Options:

45350102047, 1
645350108048 2
645350108049 =
645350108050, 4

Question Number : 128 Question 1d : 64635027527 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1. FEREEE

2. FoWd

3.  EaRvEEaTE
4. OIOSERIETE

Options:

645350108047 1
645350103048 2
48350102049 =
45350102050, 4

Question Number : 129 Question Id : 64635027528 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AT g TFH fern iR g Ao —Sieid FAtfetadr
. FEREa
2. AETEEREEG

3. JEERTEERAHTG
4.  AEGETER

Options:

648350108051 1
45350102052 2
645350108052 5
645350108054 4

Question Number : 129 Question Id : 64635027528 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘AT § UF o 3R § qed — 3 Tl aar?
. AERE9TS
2. AR

3. JEERTEEHEHEG
4.  AEETIETER

Options:
645250105051, 1

EAE350108052. 2
EAE350108053. =
EAE350108054. 4

Question Number : 130 Question Id : 64635027529 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e fafaermar: & samr Faafa?
1. ST ageatafataadsr FHadag
2. TEUREAEETERT
3. SfamoiessdR T
4. gamiesAtaten e gEr Fe:

Options:

45350102055 1
645350108056, 2
645350108057 =
645350108058 4

Question Number : 130 Question 1d : 64635027529 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Jar-aar. fafasrar: & a7 Famfe?
1. ST aeEr i e,
2. TEUCTEEaaTERT [T
3. yiaremiesrsaE T
4, gECSARmEETI R FE e

Options:

648350108055 1
45350102058, 2
645350108057, 5
645350108058 4

Question Number : 131 Question Id : 64635027530 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FEEAY F TE F Gz ? FHET drfersnt aa—

(a)  dam: (i) =&
(b) et 7 wETE: ) aFrER:
(©)  wEEm: (i) ot
(d)  syqraa ey iv) e

L (a)-Qu); ()-i); (©)-(v); (1)
2. (@@ (b)1n); (o)), (d)—(v)
3. (a-ui); (b)-Q); (0)-1); (D—(1v)
4. (@-v); (0)-); (o)-i1); (d)-)

Options:

645350108059 1

64E3501028060. 2

645350108061, 5
EAEZS0108062, 4



Question Number : 131 Question Id : 64635027530 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT & TE & T2 Gt arert foga—

(a) = (1) =t
(b)  smeprert 7 WeTyE: (i)  grEm:
(©) #EEm: (i) St
(d) sy ey iv) e

L (a)-w); (0)-i); ()-(v); (1)
2. (a0 (b)-i); (o)(ii); (d)—(1v)
3. (&) (b)-Q); (e)-(1); (d)-v)
4. (a)-Qv); (b)-); (c)-i); (d)~1)

Options:

645350108059 1
645350108060, 2
645350108061, 2
45350102082 4

Question Number : 132 Question Id : 64635027531 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1. wrETEEm
2. STy
3. HTEHEER
4. IRTEEOTH

Options:

645350108063 1
48350102064 2
45350102065 =
45350108066, 4

Question Number : 132 Question Id : 64635027531 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e g
1. grer=EEm
2. AT
3. HTEHEEN
4. IETEROTH
Options:

6453501080683, 1
645350108064, 2
645350108065, 5
EAEZS0108066, 4

Question Number : 133 Question Id : 64635027532 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



£23 | [ATA TS E-A T b2l Lo 1 el e

3. AT

4,  |EHaEE:

Options:

645350108067, 1
45350108068 2
645350108069 2
645350103070, 4

Question Number : 133 Question 1d : 64635027532 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

£23 | [ATA TR EA S roo lC Lo 1 e ! o

1. u=HiETA
2. OHEE:
X A EG:

4,  |EAEEa:

Options:

645350108067, 1
48350102068 2
45350108069 5
45350108070 4

Question Number : 134 Question Id : 64635027533 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SrarTHEsATETT Cay):” St

S

)

Options:

645350103071 1
48350102072 2
45350102072 =2
645350108074 4

Question Number : 134 Question Id : 64635027533 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SARTHES @R q3):* S s

-

Options:

E4E350108071. 1
E4E350102072 2
645350108072
645350108074 4

Question Number : 135 Question Id : 64635027534 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



4.,  FEATIEE:

Options:

645350103075 1
48350102076, 2
45350102077 2
45350108078 4

Question Number : 135 Question Id : 64635027534 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TSI ATAT Aitnaremy ==t Fm: F:2
1. SFodn:

2. A

4,  FHATTGE:

Options:

E4E350108075 1
E4E350102076, 2
45350108077 5
45350108078 4

Question Number : 136 Question Id : 64635027535 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



] 7
L 8
3 9
4 6

Options:

645350108079 1
645350108080, 2
645350108081, =
48350102082 4

Question Number : 136 Question Id : 64635027535 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TSR F A Tt St

b. 7
2 8
3 9
4 6

Options:

48350108079 1
45350108080, 2
645350108081, =
645350108082 4

Question Number : 137 Question Id : 64635027536 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



4. SUEFATEIR

Options:

645350108083 1
645350103084 2
483501028085 2
45350102086, 4

Question Number : 137 Question Id : 64635027536 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

EATATTEART FEhraaraareehl AT

4. SUEFATEIR

Options:

645350108083 1
645350108084, 2
646350102085 =
45350102086, 4

Question Number : 138 Question Id : 64635027537 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1 s

2. Toramam:
3. =@y

4 qH:

Options:
E4EZE0108087. 1

EAEZS0108088. 2
E4E350108089. =
E4E350108030. 4

Question Number : 138 Question 1d : 64635027537 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

1. e

2. FrRamErT:
3. ©rH

4 qH:

Options:

645350108087, 1
645350108088 2
48350102089 =2
45350102090, 4



Question Number : 139 Question Id : 64635027538 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

1. HR— S —aHT I —eTE F— W TOTETHT:

2 HIEH—EH—Y T — e e—dHTE

3. HH—UTIMIH—UEHE — HHTE:

4. AT —ITER— ST0T— ST — GHTEE:

Options:

45350102091, 1
645350108092 2
645350108093 =
645350105094 4

Question Number : 139 Question 1d : 64635027538 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

1. EROT—SEA—aH S —ATE T—WTOTETHT:

25 HTOTEMH—EAT—E N M—T A Ae —dHTEE:

3. EH—UTTIH—" e —HT—dHTE

4. ATITEH—T e — T — S — AT

Options:

645350108091 1
645350108092 2
645350108093 =
E4E350102094 4



Question Number : 140 Question Id : 64635027539 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“TAREEAE 9 THOTGI AT STeIasarT Haeg: 97 & qakd?

1. g
2. HgEOm
3. =y
4. FFHEHEH

Options:
45350105095, 1

EAEZS0108036, 2
EAEZ501080397. =
E4E35010803958. 4

Question Number : 140 Question 1d : 64635027539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“TARTEAE 9 TG AT aTeiasanT Hae: 9 & aata?

1. e
2. HEOm
3. =y
4. FEHUHEH

Options:
45350105095, 1

EAEZ50108036. 2
6453501080397, =
6453501080395, 4



Question Number : 141 Question Id : 64635027540 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HITT F 98 F T2 Fradi aier ragd—

(@) FefErARsy 1) ST
(b) e @)  sffamorag:
(©)  Awedrafay (i)  sfrwgArE:
(d)  ziafas av) s

L (a)-am); (b)-(); (©)~w); ()
2. (a)-(ii); (b)-1); (e)(i); (d)(iv)
3. (a)-(); (b)ui); (e)~(i); (d)—~(iv)
4. (a)-(1); (b)-(u); (c)-(1); (d)-(v)

Options:

E4E350102099 1
45350108100, 2
645350108101, =
645350108102 4

Question Number : 141 Question Id : 64635027540 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



AT ol T I T ? G qTiersl rea—

(@) FuigERATEF ¢y TR
(b)  =FreadiwrET (i)  siemorag:
(©)  Fmefigaiam (i)  sffwgAmE:
(d)  giafam (iv) s

L (a)-); (b)—1); (e)~1v); (1)
2. (a-); (b)-(); (e)-(i1); (d)-Qv)
3. (a)Q); (b)-m); ()-(u); (d)-v)
4. (a)-(); (b)-(u); (©)-1); (d)-av)

Options:

645350108099 1
645350103100, 2
45350102101, =2
45350108102 4

Question Number : 142 Question Id : 64635027541 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ALY A e F T ? Gt arferst raqd—

@ JIgaa ) FeE:
(b)  Zeema: (11) ATegEeH
(© uf=zw: () =T
(d) e V)  afeaedm

L (@-(v); (b)-@); (c)-(u1); (d)—1w)
2. (a)-); (b)-@); (e)(u1); (A)-(v)
3. (a-(i); (b)-@); (0)-v); (D)
4. (a)-(v); (b)-); (¢)-Q); (d)-11)

Options:

645350108103 1
645350103104 2
45350102105 =2
45350108106, 4

Question Number : 142 Question Id : 64635027541 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ALY A e F T ? Gt arferst raqd—

(@) gE @)
(b) e () A
© e (i) s
G () e

L (@-(v); (b)-@); (c)-(u1); (d)—1w)
2. (a)-); (b)-@); (e)(u1); (A)-(v)
3. (a-(i); (b)-@); (0)-v); (D)
4. (a)-(v); (b)-); (¢)-Q); (d)-11)

Options:

645350108103 1
645350103104 2
45350102105 =2
45350108106, 4

Question Number : 143 Question Id : 64635027542 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘TEadesdTglle TeaIdHaaHd FAA 3 F97 Fg Iad?

1. IFA=adE
2. ToEETE
3. e

4.  FUeT:

Options:
645350108107 1
48350108108 2



E4E35010810%9. =
E4E350108110. 4

Question Number : 143 Question Id : 64635027542 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘TECdesaTeIs JeardHaeHT FIAAETH 3 FHYF FE TAd?
1. FH<=as=
2. TERETE
3 arHA=
4,  Tfve:
Options:

6453501058107, 1
EAEZS0108108. 2
E4E35010810%9. =
E4E350108110. 4

Question Number : 144 Question Id : 64635027543 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

. TrorEe
2. fawgeas
3. Feded
4. AT

Options:

45350105111, 1
645350108112 2
645350108112 =
645350105114 4

Question Number : 144 Question Id : 64635027543 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



. TR
2. fageme=
3. Feded
4.  arEAA

Options:

645350108111, 1
648350108112 2
45350102112 =
645350108114 4

Question Number : 145 Question Id : 64635027544 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Heaterqar=ar == FiafEy:?
1. Ffee:

2. =gEY:
3. U
4. TEEE

Options:

645350108115 1
645350108116 2
645350108117 =
46350102118 4

Question Number : 145 Question 1d : 64635027544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



4. TEEE

Options:

645350108115 1
645350108116 2
645350108117 =
46350102118 4

Question Number : 146 Question Id : 64635027545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“IUT W Y EaaEd” AETHE T JTeavhiaed

L ERIFEEESRIE TS

Options:

645350108119 1
645350108120 2
48350108121 =2
45350108122 4

Question Number : 146 Question Id : 64635027545 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:
645250105119, 1

EAEZ50108120. 2
4350108121, =
EAEZ50108122. 4

Question Number : 147 Question Id : 64635027546 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TR Hesam f&ed: THRAaeaea: |

i aqieas: a1 9t T8t FemaaaTiaT a9 ||
HEHETIAN FETH I Hga—

. SETET AT quiE

2. WHTE iU
3. ATEET U g

4. ATRFT ATAT GUTGHT

Options:

645350108123 1
645350108124 2
646350108125 =
45350102126 4

Question Number : 147 Question Id : 64635027546 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A TR H S5 (6o THTTHATRHISTTE: |

feeeifed aqieas: ga1 Ot a5H! emaHaTja a9 ||
THETAR FfEad I faga—

. FEET AT Ui

2. GHIE HidrguiaE
3. aTERRT it gt

4.  ATRFT ATAT GUITTHT

Options:

645350108122 1
645350108124 2
645350108125 =
645350108126 4

Question Number : 148 Question 1d : 64635027547 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TSRO ‘TR SER a1 e GEM g /e fE 9 e L | A

TN ?
1. =
2. gHEE:
3. =i

4.  FACER

Options:

645350108127 1
645350108128 2
48350108129 2
45350108120 4

Question Number : 148 Question Id : 64635027547 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



L2 te: 13 Ca MRS | O£ b MG K5 e 1 11 B e s M s M 2 o R e B e 1 o e R < 2 o

P2
1. g
2. gHEIE:
3. Al

Options:
45350105127, 1

EAEZS010812E8. 2
EAEZ50108129. =
EAE350108130. 4

Question Number : 149 Question Id : 64635027548 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FferT: Jer-g HiepaaHegsT T4 W™, T AT s arsyaed Hargar T | ... |l

= & =

1.  HIeET
2. fErato
3. g9=idasH

Options:

645350108121 1
645350108132 2
645350108133
645350103134 4

Question Number : 149 Question 1d : 64635027548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FlferaT: QY e aagsd I8 ©, T g e sy T Harsal e | ... |l

1. #reE
2. TErEfon
3. aEaeEH

Options:

648350108121 1
45350108122 2
645350108122
645350108124 4

Question Number : 150 Question Id : 64635027549 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FaTTEEsAT: W, Fa=] QST 98 WEE | L. || 97 F or

1. W

2. @R

3. ageE
4. =it

Options:

645350108135 1
E4E350108138 2
45350108127 =2
645350108128 4

Question Number : 150 Question Id : 64635027549 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FaTEEEAT: T, e TUSaHan: 98 HHa | L. || 3 T g

. H=wRET

2. Frar

3. aEeE,
4.  wifer

Options:

645350108135 1
645350108136 2
646350108127 =2
45350102128 4



